

28 March 2020

### Some Examples and thm.

Ex 17) Let  $S$  be a subset of an I.P.S.V. Then Show that  
 (i)  $S^\perp = [L(S)]^\perp$   
 (ii)  $L(S) \subset S^{\perp\perp}$ , where  $L(S)$  is Linear Span of  $S$  or generating set of  $S$ .

Solution:-

(i) Since  $L(S)$  is the linear span of  $S$   
 $\Rightarrow S \subset L(S)$

$\Rightarrow [L(S)]^\perp \subset S^\perp$  (1)

By Prop of complement  
 $W_1 \subset W_2$   
 $W_2^\perp \subset W_1^\perp$

R.T.P

$S^\perp \subset [L(S)]^\perp$

Let  $S = \{u_1, u_2, \dots, u_n\}$

Then any  $v \in L(S)$  can be written as

$v = \alpha_1 u_1 + \alpha_2 u_2 + \dots + \alpha_n u_n$   
 $\forall \alpha_i \in F$

$v = \sum_{i=1}^n \alpha_i u_i$  (\*)

$v \in L(S)$   
 $v$  can be written as Linear comb. of  $u_i$ 's of  $S$

We know that  $S^\perp = \{u \in V \mid \langle u, v \rangle = 0 \text{ for all } v \in S\}$

Let  $u \in S^\perp$  Then  $\langle u, u_i \rangle = 0$  for all  $u_i \in S$   
 $1 \leq i \leq n$ .

Now  $\langle u, v \rangle = \langle u, \sum \alpha_i u_i \rangle$  [using (\*)]  
 $= \langle u, \alpha_1 u_1 + \alpha_2 u_2 + \dots + \alpha_n u_n \rangle$   
 $= \alpha_1 \langle u, u_1 \rangle + \alpha_2 \langle u, u_2 \rangle + \dots + \alpha_n \langle u, u_n \rangle$

$= \sum_{i=1}^n \alpha_i \langle u, u_i \rangle$

$= \sum \alpha_i \cdot 0$  {  $\because \langle u, u_i \rangle = 0$  }

$= 0$

$\because \langle u, \alpha v \rangle = \alpha \langle u, v \rangle$

$\Rightarrow \langle u, v \rangle = 0 \Rightarrow u$  is perpendicular to  $v$

$\Rightarrow u \perp L(S)$  {  $\because v \in L(S)$  }

$\Rightarrow u \in [L(S)]^\perp$  { By def. of ortho. complement }

$$\therefore u \in S^\perp \Rightarrow u \in [L(S)]^\perp$$

$$\therefore S^\perp \subset [L(S)]^\perp \quad \text{--- (2)}$$

From (1) & (2) we have

$$S^\perp = [L(S)]^\perp$$

Similarly, we can prove 2nd part also

EX 18) Let  $V(\mathbb{R})$  be a real inner product space.

Let  $\alpha, \beta \in V$  such that  $\alpha \perp \beta$ . Then show that

$$\|\alpha + \beta\|^2 = \|\alpha\|^2 + \|\beta\|^2. \text{ ALSO PROVE CONVERSE}$$

Solution:-  $\alpha, \beta \in V$  and  $V(\mathbb{R})$  is an I.P.S.

Now

$$\|\alpha + \beta\|^2 = \langle \alpha + \beta, \alpha + \beta \rangle = \langle \alpha, \alpha + \beta \rangle + \langle \beta, \alpha + \beta \rangle$$

$$= \langle \alpha, \alpha \rangle + \langle \alpha, \beta \rangle + \langle \beta, \alpha \rangle + \langle \beta, \beta \rangle$$

$$= \|\alpha\|^2 + \langle \alpha, \beta \rangle + \langle \alpha, \beta \rangle + \|\beta\|^2$$

$$= \|\alpha\|^2 + \langle \alpha, \beta \rangle + \langle \alpha, \beta \rangle + \|\beta\|^2$$

$$= \|\alpha\|^2 + 2\langle \alpha, \beta \rangle + \|\beta\|^2$$

$$\|\alpha + \beta\|^2 = \|\alpha\|^2 + \|\beta\|^2 + 2\langle \alpha, \beta \rangle$$

$$\text{Also given } \alpha \perp \beta \Rightarrow \langle \alpha, \beta \rangle = 0$$

$$\therefore \|\alpha + \beta\|^2 = \|\alpha\|^2 + \|\beta\|^2$$

Conversely:

$$\text{Let } \|\alpha + \beta\|^2 = \|\alpha\|^2 + \|\beta\|^2 \quad \text{--- (*)}$$

$$\text{I.P. } \alpha \perp \beta.$$

We know that, Here

$$\|\alpha + \beta\|^2 = \|\alpha\|^2 + \|\beta\|^2 + 2\langle \alpha, \beta \rangle \quad \text{--- (**)}$$

Using (\*) in (\*\*)

$$\|\alpha\|^2 + \|\beta\|^2 = \|\alpha\|^2 + \|\beta\|^2 + 2\langle \alpha, \beta \rangle$$

$$\Rightarrow 2\langle \alpha, \beta \rangle = 0$$

$$\Rightarrow \langle \alpha, \beta \rangle = 0 \Rightarrow \alpha \perp \beta$$

By Prop. of I.P.S.  
 $\langle \alpha, \beta \rangle = \overline{\langle \beta, \alpha \rangle}$   
 OR  
 $\langle \beta, \alpha \rangle = \overline{\langle \alpha, \beta \rangle}$   
 $\because V(\mathbb{R}) \rightarrow \text{I.P.S.}$   
 $F = \mathbb{R}$   
 $\therefore \langle \alpha, \beta \rangle = \langle \alpha, \beta \rangle$

## orthonormal set:-

Let  $S = \{u_1, u_2, \dots, u_n\}$  be a subset of I.P.S.  $V$ . Then 'S' is s.t.b. orthonormal set if it satisfy two cond:-

$$(i) \langle u_i, u_i \rangle = 1 \text{ i.e. } \|u_i\| = 1 \text{ for } 1 \leq i \leq n.$$

$$(ii) \langle u_i, u_j \rangle = 0 \text{ for } i \neq j; 1 \leq i, j \leq n.$$

Example:- Consider the standard basis of  $\mathbb{R}^2$ .

$$S = \left\{ \underset{\downarrow e_1}{(1,0)}, \underset{\downarrow e_2}{(0,1)} \right\}$$

$$\text{Now } \langle e_1, e_1 \rangle = \langle (1,0), (1,0) \rangle = 1 \cdot 1 + 0 \cdot 0 = 1.$$

$$\langle e_2, e_2 \rangle = \langle (0,1), (0,1) \rangle = 0 \cdot 0 + 1 \cdot 1 = 1.$$

$$\text{Also } \langle e_1, e_2 \rangle = \langle (1,0), (0,1) \rangle = 1 \cdot 0 + 0 \cdot 1 = 0$$

$\therefore S$  is orthonormal set of  $\mathbb{R}^2$ .

Thm:- Let  $\{u_1, u_2, \dots, u_n\}$  be an orthonormal basis of an I.P.S.  $V$  and  $u \in V$  be arbitrary. Then the co-ordinates of  $u$  relative to the basis  $\{u_i\}$  are  $\langle u, u_i \rangle$  and  $\|u\|^2 = \sum_{i=1}^n |\langle u, u_i \rangle|^2$

Proof:- Let  $\{u_1, u_2, \dots, u_n\}$  be an orthonormal basis of I.P.S.  $V(F)$ .

$$\text{Then (i) } \langle u_i, u_i \rangle = 1 \quad \forall 1 \leq i \leq n$$

$$(ii) \langle u_i, u_j \rangle = 0 \quad ; i \neq j$$

[By def. of orthonormal set]

Let  $u \in V$ . and  $\{u_1, u_2, \dots, u_n\}$  is a basis of  $V$ .

$$\therefore u = \sum_{i=1}^n d_i u_i \quad ; d_i \in F \quad \text{--- (1)}$$

By definition of co-ordinates of  $u$  relative to basis  $\{u_i\}$  are scalars

$$d_1, d_2, \dots, d_n.$$

Now, for each  $i$ ;  $\langle u, u_i \rangle = \langle \sum_{j=1}^n \alpha_j u_j, u_i \rangle$

$$= \langle \alpha_1 u_1 + \alpha_2 u_2 + \dots + \alpha_n u_n, u_i \rangle$$

$$= \alpha_1 \langle u_1, u_i \rangle + \alpha_2 \langle u_2, u_i \rangle + \dots + \alpha_n \langle u_n, u_i \rangle$$

Take  $n$   
 $u = \sum_{j=1}^n \alpha_j u_j$   
 for different  
 index.

$$= \sum_{j=1}^n \alpha_j \langle u_j, u_i \rangle \quad \text{for all } 1 \leq i \leq n.$$

$$\langle u, u_i \rangle = \alpha_i \quad \text{for } 1 \leq i \leq n.$$

= Co-ordinates  
 of  $u$  relative  
 to the basis  $\{u_i\}$

When  $i=j$   
 $\langle u_i, u_j \rangle = 1$   
 $i \neq j$   $\langle u_i, u_j \rangle = 0$

Now; Remain to Prove  $\|u\|^2 = \sum_{i=1}^n |\langle u, u_i \rangle|^2$

From ①  $u = \sum_{i=1}^n \alpha_i u_i = \sum_{i=1}^n \langle u, u_i \rangle \cdot u_i$   $\left\{ \begin{array}{l} \because \\ \langle u, u_i \rangle \\ = \alpha_i \end{array} \right.$

Now.

$$\|u\|^2 = \langle u, u \rangle = \langle \sum_{i=1}^n \alpha_i u_i, \sum_{j=1}^n \alpha_j u_j \rangle$$

$$= \langle \alpha_1 u_1 + \alpha_2 u_2 + \dots + \alpha_n u_n, \alpha_1 u_1 + \alpha_2 u_2 + \dots + \alpha_n u_n \rangle$$

$$= \alpha_1 \langle u_1, \alpha_1 u_1 + \alpha_2 u_2 + \dots + \alpha_n u_n \rangle$$

$$+ \alpha_2 \langle u_2, \alpha_1 u_1 + \alpha_2 u_2 + \dots + \alpha_n u_n \rangle$$

$$+ \dots + \alpha_n \langle u_n, \alpha_1 u_1 + \alpha_2 u_2 + \dots + \alpha_n u_n \rangle$$

$$= \sum_{i=1}^n \alpha_i \langle u_i, \alpha_1 u_1 + \alpha_2 u_2 + \dots + \alpha_n u_n \rangle$$

$$= \sum_{i=1}^n \alpha_i \langle u_i, \sum_{j=1}^n \alpha_j u_j \rangle$$

$$= \sum_{i=1}^n \alpha_i \left[ \sum_{j=1}^n \alpha_j \langle u_i, u_j \rangle \right]$$

$$= \sum_{i=1}^n \sum_{j=1}^n \alpha_i \alpha_j \langle u_i, u_j \rangle = \sum_{i=1}^n \alpha_i^2 \left[ \sum_{j=1}^n \alpha_j \langle u_i, u_j \rangle \right]$$

When  $i=j$   
 $\langle u_i, u_j \rangle = 1$   
 $\|u\|^2 = \sum_{i=1}^n |\alpha_i|^2$